2015 Holiday Lighting for Margate Boulevard

Description	Quantity	Unit Cost	Total Cost	Full Service Lease
Section 1 (ST RT7 to Turn-A-Round)	与事 经			
10 Royal Palm trees with 12 sets; 10 sets White miniature LED sets per trunk and 2 Green LED sets at crown	10	\$296.00	\$2,960.00	\$2,960.0
3 Alexander Palms with 4-50 light sets Green LED Per Tree	3	\$98.68	\$296.04	\$296.0
ection 2 (Turn-A-Round to Circle)				
3 Royal Palm trees with 12 sets; 10 sets White miniature LED				
sets per trunk and 2 Green LED sets at crown	3	\$298.00	\$894.00	\$894.00
8 medium sized Scrub Oak Trees, 10-50 light sets Warm White LED Per Tree, 10 cool white animated drip lights	8	\$646.00	\$5,168.00	\$5,168.00
4 Alexander Palms with 4-50 light sets Warm White LED Per Tree	4	\$98.68	\$394.72	\$394.72

2015 Holiday Lighting for Margate Boulevard

Description	Quantity	Unit Cost	Total Cost	Full Service Lease
Section 3 (Circle to Median Walkthrough)				
3 Royal Palm trees with 12 sets; 10 sets White miniature LED sets per trunk and 2 Green LED sets at crown	3	\$298.00	\$894.00	\$894.0
6 medium sized Scrub Oak Trees, 10-50 light sets Warm White LED Per Tree, 10 cool white animated drip lights	6	\$646.00	\$3,876.00	\$3,876.0
5 Alexander Palms with 4-50 light sets Warm White LED Per Tree	5	\$98.68	\$493.40	\$493.4
Section 4 (Median Walkthrough to End of Median)				
6 Royal Palm trees with 12 sets; 10 sets White miniature LED sets per trunk and 2 Green LED sets at crown	6	\$298.00	\$1,788.00	\$1,788.00
3 medium sized Scrub Oak Trees, 10-50 light sets Warm White LED Per Tree, 10 cool white animated drip lights	3	\$646.00	\$1,938.00	\$1,938.0
Section 5 (Planters North and South of the Circle)				
10 Alexander Palms with 4-50 light sets Warm White LED Per Tree	10	\$98.68	\$986.80	\$986.80
Tree Lighting Cost	***************************************	X 2013 (1) (1)		\$19,688.96

2015 Holiday Lighting for Margate Boulevard

Description		Quantity	Unit Cost	Total Cost	Full Service Lease
Ground Display Scene Options at Circle	This list represents a sele each. Brandano Displays value and size can be sul season of the contract. T	Scene #			
Up North Skating Bears Scene	This scene features two colorful polar bears skating on an imaginary pond. One bear is 8' tall and the other is 6' tall. The total display width is 38'.				226
Snowman Family Scene	This scene features three stylistic illuminated metal sculpture Snowmen. The father is 12' in height, the mother is 11' in height and the baby is 7' in height. The scene has a display width of 27'.				251
Holiday Penguin Scene	This scene features a metal sculpture Penguin family all dressed up for the Holidays. The daddy Penguin (6'6"H x 4'6"W) is wearing a hat, the mommy Penguin (6'H x 3'6" W) is wearing an apron, and the baby Penguin (5'H x 2'9"W) is carrying a wrapped package. The unit is fully illuminated.				303
Up North Igloo with Snowboy Standing	This scene features a 15'H igloo with billowing smoke. The Snowboy is standing on the igloo. The display is fully illuminated.				323
Cat in a Stocking with Candy Canes Scene	This scene features a cat peering out the top of a stocking with two candy canes on either side. This scene is fully illuminated and has a height of 8'.				766
Dog on a Dog House with Euro Trees Scene	This scene features a dog s scene measures 8' high an	ne features a dog sitting on top of a dog house with two Euro Trees. This easures 8' high and is fully illuminated.			
Ground Display Pricing	This is an annual rental with energy saving lamps.	h installation cost	. All designs will b	oe lighted with LED	\$7,000.00

2015 Holiday Lighting for Margate Boulevard

Description		Quantity	Unit Cost	Total Cost	Full Service Lease
Clock Tower					
Clock Tower Animated Snowflakes	The Clock Tower will be outlined in C-7 Cool white LED Lights, Inside the tower will feature Red animated light strands hanging from a 4' a lighted ornament. Also 10 Snowflakes ranging in size from 5' to 3' will be attached to the tower and set at ground level. The snowflakes will be animated.				\$2,728.00
City Hall, Tree					
20' Decorated Christmas Tree	The Southern Pine Tree will be 20' tall with a 10' diameter base and 3' diameter Snowflake tree top ornament. The Tree will feature 95 plush Southern Pine branches and a 4' peak. A total of 850 C-7 clear lights will illuminate the branches of the tree. The tree-top ornament will be lighted with 50 C-7 clear twinkle lights.				\$2,500.00
Total Combined Annual Cost	Cost for the described Tree Lighting and Ground Mounted Scenes combined				\$31,916.96
Preferred Customer discount					\$2,000.00
Total 2015 Cost					\$29,916.96